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(1) 3 2DEK z, y, 2z BEHERA

x 2y 3z =1:6:21, 2r+y+ 2z =160

Ride s, x=[1], y=[2[3], z=[4]5] Tth 3.
(2) ﬁ&cm%%zwx—q—g\gwiﬁf:a‘a%, [6]<|z—4<[7]THvy,

Tz DEAMEIR [8] TH B,

(3) My =47 —2o¥3 127 1 4-1 43, 7 =log, [9] - orx, sAME-[11[12] %
L5,
(4) B {a,} XEFEHFIT, HI0HEN 12, B0 EHIP 62 TH5, ZOBIORNER

20
<HY, S an= TH 5.

n=10
(5) 22DEKz, yiz2WT, MEM22+92 < a? w522+ +22-24 S0 TH D] HE

Y BEDER o DEAEE 17] TH B, o, @E (2242 <02 72561 3z +4y <40
Thb] DELRBEDER b DEAMEIE 18] TH D,
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(1) 3MEDOEDEY HELAIE, 2T BwYH B,

(2) ERAMNERIBZEBMOEBLAR, 2T BEYH 5B
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3) HRAFLIIER BRI HERIE == THD,
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(4) EFRBIMIBI oL FIZER AR MR THb,
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OA = 23, OB = 4, Z/AOB = 30°
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(1) OA - OB
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(2) OM =+/[32]33
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(3) MCHLEMOAIZERCPA2FAT L, OP= \/ THb,

(4) £ CH5FE OAB I F CH 2T AL, FMs, ¢ 2T OH=s0A+¢0B KT

r, s:f»aaéo 7=, :@a%CH:%@eci‘, 0C = THbD,
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anf = Thbd, 772U, O<9<% 95,
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